Atomic Energy Central School No.2 Rawatbhata

CLASS 10 - ENGLISH
Periodic Test 1 (2021-22)
Time Allowed: 1 hour and 30 minutes Maximum Marks: 40
General Instructions:
1. All questions are compulsory
2. Marks of each question is given against them

1. Read the passages given below and answer any 10 questions that follow them: [10]
Diabetes is a metabolism abnormality that affects the way your body uses blood sugar
(glucose), your main source of energy. To understand diabetes, you have to start from the
beginning - with food. Your body converts a portion of the food you eat and digest into
glucose. Glucose is then absorbed into your bloodstream, where it can enter the individual
cells of tissue throughout your body to be used as energy. Before your cells will let glucose in,
however, they need the help of insulin.

Insulin is a hormone produced by your pancreas - a gland located just behind your stomach.
Normally, insulin acts as a master key, unlocking the doors of your cells and allowing glucose
inside. To simply maintain this process, such as at night when you're asleep, the pancreas
releases a low level of insulin on a constant basis. When necessary, such as after a meal, your
pancreas increases insulin supply to meet demand.
After you eat a meal or a snack, your pancreas releases more insulin to make sure the extra
glucose in your bloodstream can enter your cells. If you have more glucose than you need,
your body can remove the excess from your blood and store it in your liver and muscles or
convert it to fat. Then, when you run low on fuel, your body can release this stored energy
back into your bloodstream, where insulin is waiting to usher it into your cells.
If you have diabetes, this whole process goes awry. Instead of entering cells throughout your
body, excess glucose builds up in your bloodstream and some of it may eventually be
excreted in your urine. This can happen when your pancreas doesn't produce enough insulin
(Type 1 diabetes), when your cells have become resistant to the effects of insulin (Type 2
diabetes) or, more commonly, when both of these problems occur.
1. Diabetes is a

a. nervous disorder

b. metabolic disorder

c. throat disorder

d. physical disorder
ii. If your body does not produce sufficient insulin you have

a. type 2 diabetes

b. jaundice

c. type 1 diabetes

d. iron deficiency
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iii. Glucose from food gets absorbed in our

a. bloodstream
b. stomach
C. pancrease
d. liver
iv. Pancreas produces the hormone
a. glucose
b. insulin
C. estrogen

d. adrenaline

v. Find the word from the passage which means the same as change from one form to
another.
a. fix
b. idle
C. preserve
d. convert
vi. Find the word from the passage which means the same as regular.

a. erratic
b. constant
c. unsteady
d. occasional

vii. Your body converts a portion of the food into:
a. insulin
b. energy
c. glucose
d. water

viii. Which gland is located just behind stomach?
a. pancrease
b. liver
c. gall bladder
d. pylonic gland

ix. If more glucose added than needed, so where is the excess glucose stored?
a. pancrease
b. gall bladder
c. liver
d. excrete from body

x. If your body cell have become resistant to the effects of insulin then you have

a. jaundice
b. type 2 diabetes
c. type 1 diabetes

d. iron deficiency
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xi. What is the main source of energy in our body?
a. insulin
b. food
c. fat
d. glucose
xii. Antonyms of word abnormal:
a. common
b. isolated
C. uncommon

d. eccentric

The table below shows the results of a survey that asked 6800 Indian adults (aged 16 years and [5]

over) whether they had taken part in different cultural activities in the past 12 months. Write
an analytical paragraph by selecting and reporting the main features and make comparisons
where relevant (150-200 words).

Participation in cultural activities, by age

16-24% | 25-44% | 45-74% All ages 16 and over %
Any performance* 35 22 17 22
Undertaking any crafts 11 17 22 19
Cultural purchases 11 17 18 16
Any visual arts 30 16 11 15
Any writing 17 6 5 7
Computer-based 10 9 5 6

* Dancing, singing, playing musical instruments and acting
Read the passage given below and fill in the blanks by choosing the most appropriate
words from the given options.

I have been (a) to learn English for the last three years. But, I haven't (b) yet.
My teacher is very patient with me and he (c) me every time I fail. I am trying (d)
best.

a. (i) tried (ii) try (iii) tries (iv) trying

b. (i) succeeded (ii) succeed (iii) succeeds (iv) succeeding

c. (i) encouraging (ii) encourage (iii) encourages (iv) encouraged

d. () your (ii) her (iii) my (iv) their
Why did Nelson Mandela say, "The oppressed and the oppressor alike are robbed of their
humanity.”

“The sight of the food maddened him...” What does the sentence suggest? What compelled the
young seagull to finally fly?
Which two ideas about how the world will end have been mentioned in the poem Fire and
ice? Which idea does the poet support more?

"On pads of velvet quiet In his quiet rage". Who is referred to here? Why does he express his

[4]

[2]

[2]

[2]

[2]
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10.

11.

anger quietly?

Mrs. Pumphrey was responsible for Tricki’s illness. Explain it in your own words. [2]
How did Hari Singh know that Anil had forgiven him? [2]
Read the extract given below and answer the questions that follow: (1 X 4 =4) [4]

With a satisfied expression, he regarded the field of ripe com with its flowers, draped in a
curtain of rain. But suddenly a strong wind began to blow and along with the rain very large
hailstones began to fall. These truly did resemble new silver coins. The boys, exposing
themselves to the rain, ran out to collect the frozen pearls. "It’s really getting bad now”,
exclaimed the man. "I hope it passes quickly.” It did not pass quickly. For an hour the hail
rained on the house, the garden, the hillside, the cornfield, on the whole valley. The field was

white as if covered with salt.

a. How did Lencho feel when he saw his fields covered with a curtain of rain?
b. What did the hailstones look like?

¢. Which word in the passage has the same meaning as ‘frozen pearls’?

d. What Lencho expected but what happened?

Ausable was a clever secret agent. Do you agree with the statement? Justify your answer. [5]1
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Time Allowed: 1 hour and 30 minutes

Atomic Energy Central School No.2 Rawatbhata

CLASS 10 - MATHEMATICS
Periodic Test 1 (2021-22)

General Instructions:

g W

10.

11.

12.

13.

All questions are compulsory

Marks of each questions are marked at the end.

120 can be expressed as a product of its prime factors as:

a) 15 x 23 b)5x23x%x 3
c)5 X 8 X3 d) 10 X 22 X 3
Find the H.C.F. of 95 and 190.

Check whether 12" can end with the digit 0 for any natural number n.

Prove that \/5 is an irrational number.

The zeros of the quadratic polynomial x2 + 88x + 125 are
a) both negative b) both positive
c) both equal d) one positive and one negative

Find the sum of the zeroes of quadratic polynomial x% + 7x + 10.

Find the zeroes of 4x% + 24x + 36 and verify the relationship between the zeroes and their
coefficients.

Find a cubic polynomial with the sum, sum of the product of its zeroes taken two at a time,
and product of its zeroes are 5, -6 and -20 respectively.

The pair of equations 5x — 15y = 8 and 3x -9y = % has

a) infinitely many solutions b) no solution

c) two solutions d) one solution

If ad # bc, then find whether the pair of linear equations ax + by = p and c¢x + dy =  has no
solution, unique solution or infinitely many.

Draw the graphs of the pair of linear equations:

Xx+2y=5and 2x-3y=-4

Also find the points where the lines meet the x-axis.

If the equation 4x2 - 3kx + 1 = 0 has equal roots then k = ?
3 4
a) £ b) £
2 1
Find the discriminant of the Quadratic equation:

x2+px+2q=0

Maximum Marks: 40

[1]

[1]
[2]

[3]
[1]

[1]
[2]

[3]

[1]

[1]

[5]

[1]

[1]
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14.

15.

16.
17.
18.

19.

Represent the situation in the form of the quadratic equation: A train travels a distance of 480

km's at a uniform speed. If the speed had been 8 km/hr less, then it would have taken 3 hours

more to cover the same distance.
Which of the following is not an A.P.?

a) 2, %, 3, %, b) a, 2a, 3a, 4a, ...
c)-1.2,-3.2,-5.2,-7.2, ... d) 2,4,8,16, ...

The nt term of an AP is (3n + 5). Find its common difference.
Find the number of terms in AP: 7, 13, 19, ...., 205

A spiral is made up of successive semi-circles with centres alternately at A and B starting with

A, of radii 1 cm, 2 cm, 3 cm,.... as shown in the figure. What is the total length of spiral made

up of eleven consecutive semi-circles?

[5]

[1]

[1]

[2]
[3]

[5]

(o)
&
Fill in the blanks:
a)  The HCF of smallest composite no. and smallest prime number is
b) A polynomial of degree four is called polynomial.
c) aix + by + ¢1 =0, agx + by + ¢ = 0 are a system of two simultaneous linear equations. If
Z—; Z—;, then the system has solution.
d)  Ifb2 - 4ac <0, then the quadratic equation have roots.
e) 1, 4, 9 form a sequence in which next two terms are and
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Atomic Energy Central School No.2 Rawatbhata

CLASS 10 - SCIENCE
Periodic Test 1(2020-21)

Time Allowed: 1 hour and 29 minutes

General Instructions:

1. All questions are compulsory

2. Marks of each question is given against them

Balance the chemical equation and identify the type of chemical reaction:

HgO(s) — (Heat) —>Hg(®) + O2(g)
The walls of trachea are supported by cartilaginous rings.Why?
Assertion (A): Bile is essential for the digestion of lipids.

Reason (R) : Bile juice contains enzymes.

a) Both A and R are true and R is b) Both A and R are true but R is not the
correct explanation of the assertion. correct explanation of the assertion
c) Ais true but R s false. d) A is false but R is true.

A convex lens has a focal length of 40 cm. Calculate its power.

a)2.5D b) 35D

c)6.6D d) 45D
What happens when a piece of

a. Zinc metal is added to copper sulphate solution ?
b. Silver metal is added to copper sulphate solution ?

Which option is correct for mention numbers.

/\
b, "o o -
A LS

w.:.“"'l|l||'_=l|||| [ TTTT N
B 75 s O T T TR RS RS T
40 0 O 0 6 0 5 4 R

vi: The process of coating iron so as to prevent it from corrosion

a) Endothermic b) Galvanisation
c¢) Exothermic d) Respiration
Match the terms in Column (A) with those in Column (B)
Column (A) Column (B)
(a) Trypsin (i) Pancreas
(b) Amylase (ii) Liver
(c) Bile (iii) Gastric glands

Maximum Marks: 40

[1]

[1]
[1]

[1]

[2]

[2]

[2]

1/3



8.

10.

11.

12.

| (d) Pepsin | (iv) Salva “

Complete the glucose breakdown pathway in case of aerobic respiration by filling the blanks.  [2]

In cytoplasm

G‘l“DOSE >

: ol [ -

[ -

AN +Ener5y

a) (1) Pyruvate (3 carbon molecules) (2) b) (1) Pyruvate (3 carbon molecules) (2)

Water (3) Presence of oxygen (4) In Energy (3) Presence of oxygen (4) In
Mitochondria (5) Carbon dioxide (6) Mitochondria (5) Carbon dioxide (6)
Energy Water

¢) (1) Pyruvate (3 carbon molecules) (2) d) (1) Carbon dioxide (2) Energy (3)
Energy (3) Carbon dioxide (4) In Presence of oxygen (4) In
Mitochondria (5) Presence of oxygen Mitochondria (5) Pyruvate (3 carbon
(6) Water molecules) (6) Water

Alens immersed in a transparent liquid is not visible. Under what condition can this happen? [2]
A student suggested the following guidelines to his friend for doing the experiment on tracing [2]
the path of a ray of light, passing through a rectangular glass slab, for three different angles of
incidence:

A. Draw the outline of the glass slab at three positions on the drawing sheet.
B. Draw normals on the top side of these outlines near their left end.

C. Draw the incident rays on the three outlines in directions making angles of 309, 459, 60°
with the normal drawn.

D. Look for the images of the feet of these pins while fixing two pins, from the other side, to
get the refracted ray.

When he showed these guidelines to his teacher, the teacher told him that two of them need to
be corrected and modified. These two guidelines are:
a) Dand E b) Cand D
c)BandC d) Band D
A metal salt MX when exposed to light, split up to form metal M and a gas X,. Metal M isused  [3]
in making ornaments whereas gas X, is used in making bleaching powder. The salt MX is itself
used in black and white photography.
1. Identify metal M and gas X».
ii. Mention the type of chemical reaction involved when salt MX is exposed to light.

Discuss the mode of nutrition in amoeba. [3]

[3]
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13.

14.
15.

16.

i. Which property of lightwave best described the above diagram?

ii. The image formed looks slightly bent. Why?

iii. On what factors the angle of refraction depends?

What are the types of combination reactions ? Give example of each type.

i. Draw a diagram depicting human alimentary canal and label the components gall bladder,

liver and pancreas in it.

ii. State the role of liver and pancreas.

iii. Name the organs which perform the following functions in humans.
a. Absorption of digested food
b. Absorption of water

An object 2 cm high is placed at a distance of 16 cm from a concave mirror which produce a

real image 3 cm high.

(i) What is the focal length of the mirror ?

(ii) Find the position of the image.

[5]
[5]

[5]
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Time Allowed: 1 hour and 28 minutes

Atomic Energy Central School No.2 Rawatbhata

CLASS 10 - SOCIAL SCIENCE
PERIODIC TEST I (2021-2022)

General Instructions:

1. All questions are compulsory
2. Marks of each question is given against them
Which one of the following is not true regarding the Khilafat Movement?
a) It aimed at bringing the Hindus and b) It resulted in the restoration of the

Muslims together in the Non- power of the Khilafat of Turkey

Cooperation Movement
c) It aimed at defending the Ottoman d) Muhammad Ali and Shaukat Ali led
Emperor’s temporal powers the movement in India

The two great writers of Bengal and Madras, who contributed to nationalism in the late

nineteenth century through folklore were:

a) Rabindranath Tagore and Natesa b) Abanindranath Tagore and Ravi
Sastri Verma
¢) Jamini Roy and Ravi Verma d) Abanindranath Tagore and Rabindra
Nath Tagore

Name the author of the famous novel Anandamath?
Which of the following is a vulnerable species?

a) Mithun b) Hornbill

¢) Gangetic dolphin d) Asiatic Cheetah

Name any four normal species.

Why do some people belonging to the same religion often feel that they do not belong to the

same community?

a) Because their castes or sects are b) Because their Social status are
same different

c) Because their tradition and culture d) Because their castes or sects are
are same different

Which country suffered disintegration due to political fights on the basis of religious and

ethnic identities?

The exchange of goods for goods is known as:
a) e-banking b) banking

c) barter exchange d) promissory bills

At what interest rate Shyamal borrow money from the village moneylender?

Maximum Marks: 40

[1]

[1]

[1]
[1]

[1]
[1]

[1]

[1]

[1]
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10.
11.
12.

13.
14.
15.
16.

17.
18.

What are included in the 'collateral demand' that lenders make against loans?

Elaborate the contribution of Allaouri Sita Ram Raju in the nationalist movement of India.
What were three proposals regarding Non- Cooperation movement, as suggested by Mahatma
Gandhi?

India has rich flora and fauna.' Explain.

Discuss the origin of social differences.

With the help of one example can you explain the role of credit for development?

Explain the attitude of the Indian merchants and the industrialists towards the 'Civil
Disobedience' Movement'.

Describe how communities have conserved and protected forests and wildlife in India?

Explain two advantages and two disadvantages of social divisions in democracy.

[1]
[3]
[3]

[3]
[3]
[3]
[5]

[5]
[5]
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Atomic Energy Central School No.2 Rawatbhata

CLASS 10 - HINDI A
TR Tia (2021-2022)
Time Allowed: 1 hour and 30 minutes Maximum Marks: 40
General Instructions:
1. goft gt & IR foRaT s a2 1
2. 3% Udeh U & A UM g 1

1. S Pal| 98 STIQR ST 6T &1 - a1 1 Sfor sy arey 8 - [1]
a) I Pl b ag Pl STaYR S| b) SE 3T TIGR ST & & IR A Pal |
C) 98 A TIYR STTY IHH BT el | d) G- FET T a8 Hel STIYR ST |

2. Tt 3BT oGd BIdT & I8 U UTSeh! D T P AT 51 - T & YR TR IRAT a1y e [ [1]
a) Ay are b) I a1’
¢) Gg<h a1l d) I3 YAy

3. o3 QAN - a1 & foly I wraar=g 8T - [1]
a) I3 Wl g | b) s=d @ 3@ 41
¢) Sa @ 91 d) s=at gRT DT ST |

4. fafafead @ waare & IRId IR 8 - [1]
a) A TeT Al ST b) & 894 &
¢) g Tercl! 81 TS| d) T2 A 4 @4 @ £

5. I5d fopad a7 3§ M0? [1]
a) sfipwr & wg @ b) IS &F W |/
¢) U & g & d) MRl & g @

6. TR = Iga T AT T 1 o T < o foty e ? [1]
a) IR P GATT AT aTet AN Bl b) rid T {97 aret AR Bl
C) TR 7 Gt ART D d) 1id J9 g1t AN B

7. frafafedd @ gt o e seax daifda foar = g [1]
a) AR b) IR
¢) Mfer d) mfagT,

8. TTUATBE PequIB AR __ P DS IR o [1]
a) @I b) ik
c) a1 d) et

9.  Hfd &t oft? [1]
a) Toft b) YA 3R HARIA
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10.

11.

12.

13.

14.

C) THSR
Aarsft i 7 FEl R oft?
a) g &
¢) TRuUTferenT &
oGS T & o T[0T TR 73y & ?
a) AYR I
¢) graxdr
T & foet 7 @ 7 fAher?
a) foeg
¢) 9g
ORI I SUTET WR Bl HRal UT?
a) At
¢) &+ faardt

d) 3Rt

b) rER & fi T FRIE W
d) T8 & T STSIR & G IR1E R

b) sergT
d) gigArt

b) T@
d) 9 & Po TEl

b) Agal-sSf!
d) #7ar

fr=ferfRa Ty B eargde Tga) U8 T st & SR A

31Tt T A TR vhenfiehy, =, argasn, Rifeee, sitfrafar, fmm afikg & a7 7 7 i fm-fo syfaraprad
H Frraret & fAER @ 3@t &1 91 DS & g, STaT ot Gt afgarsit A 3ot w19 7 B 81| o8 Taha £ 3 ameft
7Y, oY ST IHT 51 TRT ST BART 81 IR T Tt AT A 59 ST DY S TR G Mai, bl At
TR & BIE-BYe Hedl | ot I & e @ ugd uT W} 82 T Yeh SIS, Wt A P avg 3701 haa
T IR AT @ ST Tt i e & SH?

2Tk FHTS &eT 6T & AR YT &l R {1t agemarHt ofk Sifeet & [ W sice 1 g=ars de uga urr
T AgT| 3T & 39 T gug & 75 dodt gfaat @ ardt Tt Hf HifcrwR) smarst 9 et 18 < 3 &,
TR TEt HHTS, it ofd THT AfGDR 3R uRaR & drerc dl STTaRIAr wR I89 dxct a1 Tt ATg & dlde
AT ATgt & at a8t 3Tt T8 | au o, wRdta Tpfa, gadur, ggafied, Afawar @ amd geat

TETYTE W B STl B | A H Gt @nefiar or srgary auft & urgn 9 ag T 5 Hf @) ftast
SITSITE DT HegT v il fafaat 7 anfh
1. A< Y aTedfaes ST e BRft?
i. 5T a5 i STl Bl e X uTgHt
ii. ST a8 STEd SIS DT HEIY I uTget
iii. 579 g oftast AT o HEgH Al o urgt
iv. 519 ag foret off Srrerd) ol Ay el AR urgt

I1. Afqerar 2Teg @ Uy 31T axeh gaereg ot feifigu|

i i + &ar
i, Afce + ar
iii. 7 + faerar
iv. A + gahar

I11. ¥ DB SIT ahaT & 1o ameft g =1t afes gt gfvra wfgarai & &2

i. TP st Hi Afge e &
ii. T oot AfgeT 3 eTTe) B HEgy R B
iii. i erret AfgeT &R A | oMt &

[1]

[1]

[1]

[1]

[5]
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15.

iv. ifes ot Afger H gy wd &
IV. 98 @) At & o1 = "y 82
i. AT
ii. Iretd
iii. rerc
AR FGE
V. T & fo gaffires Sugh ftde & -
i, A
ii. T@dT At
iii. 31T Pl AT
iv. smyfes A

e s o wargds gea 1 Ry U usl & Sw AR

e prer & urdt &

fepe &t 7 Het-fiet

= TR fe@ 715 fohg

gt fone oft ot gt At

3MAT & e Ut STTY, SAT B UShR B ST |
YIST TP A dU MY STt g ot &l 1Y,

It at st bl JRear-Hl, oieft g o gt Fr
3feft 3mu @Y I ST, g SR ot T S,
A S, B Bedl Afer =t Rr SR B
Tt IR 99 Tt IR e Afe A arfemeer 2

1. GTT & b R FAE IR 7 3R vgT 82

i. 98 qUHR AT B STt §
ii. ag 5ot STt &
iii. I8 g i<t &
iv. ag T & 1Y ®
IL. gt at sreat &t Jfsar P 7 SiH-91 /eidR 82
i, e
il SUHT
iii. arET
iv. &9
I11. FAt 9 oot STt &2
i. ggg eH W
ii. S e W
iii. &7 foum wR
iv. T BM W
IV. PR &I fAe# i eer T & ?
i. FifP g A o e - drear &
i, AP ST TaTa & 3ET B
iii. Tife ag A & &g T8 v

[5]
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16.

17.
18.
19.
20.
21.
22.

iv. FifH IEH ATt T8t &

V. R gt ) ST s & 2
i. R

ii. 3R

iii. 79

iv. foredt g
310 Yok RedeR A < faedt arearet & U ofk gt wa-xara ok awrd & agd 9t s | ear e
WR HHATRAT 3 GRIaER o | gaeht fRrerraa qea-fafraa aifgier @ aRa gU Sford BIRaTs e $I 7T $d §Y
80-100 <rsal | T foige Hifoi |
I 1 Afq Bl wfiva < et FoU T ST BT STEROT B o1 | MIIT 3 T AT e 82
M 3 IET B THA dRE-aRE B aeh (U &, MY ! o1 @ 3R Teh S|
TTEY R Afh & T faTwar 81 ot dgar 81 39 H2F W T fur fafe|
TRRTH T WHTATd fILtwaTd oI 87 UTs o SR WR ol
TRuTferT A Aarsft $ 7T TR R T b FSdeTEe FI @S oft?
SIS T T T st T1a H A o, ISTER0T <9 TIE BT

[5]

[2]
[2]
[2]
[2]
[2]
[2]
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